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2.
General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.
2. Please check the Question Paper to verify that the total pages and total number of questions contained in

the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 58 / 0SS / 1, Set - B on the Answer-Book.

5. (@  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,
Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

et (frgm)

Time : 3 Hours] [Maximum Marks : 80
w3 e [qquties : 80
Note:i)  This Question Paper consists of 30 questions.

ii)  All the questions are compulsory.

iii) Marks for each question have been indicated against it.

iv) Each question from Q. Nos. 1 to 8 has four alternatives - (A), (B), (C) and (D), out
of which one is the most appropriate. Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the
question. No separate time is allotted for attempting multiple choice questions.

fdw:i) sww-wmA30wRE |
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iii) e T o ik 3Tk A A T E |
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TEfes weAt o fort svem & wwa @ fomn s |
1. Which of the following enzyme is called "Joining Enzyme"? [1]
A)  Plasmids
B) DNAligase
C) Protease
D) Amylase

frfoRem usmewi # | for ToTen ot “AiSh UATgH” T 2 2

A)  wntErE

B) DNA i

C) wifeew

D) wHEAS
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2. Which of the following bacteria causes cholera? [1]

A)  Vibrio cholerae

B)  Rhizobium
C) Azotobacter

D) Lactobacillus

freaferftaa ® @ form Sframuy & wrRoT g A T g e

A)  fafen wed
B) et
C) R
D) e

3. One of the macronutrient given below plays a key role in food production and

normal growth of the plant. [1]
A) Boron

B) Copper

C) Carbon

D)  Uranium

i fou U SEq WweRt § | HH-T UNE W ok W Ieted 3R ame Jhg # THE i
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4. Which one of the following is a Criss-Cross nerve fibre connecting two cerebral
hemispheres? [1]

A)  grey matter

B)  white matter

C)  meninges

D)  corpus callosum

fraferitaa @ & @i - @ fra—swta dfiem - o @ < <t safeash i Mendt s g 2 ?

A)  qmg=A

B) wags

C) wfershEero
D)  iUd whiciEm

5. With reference to organisation of life, Rana tigrina comes into which category? [1]
A)  Community
B)  Species
C) Organism
D) Biome
Sia —ﬁmﬁg@ﬁnjﬁ_&mm Ut o ST AT 8 ?

A)  wHEE
B) wiiviw
C) <
D) «m=m
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6. Choose the plant hormone which induces "Parthenocarpy".

A)  Auxin B) Gibberelins
C)  Ethylene D) Lactic acid
3H UIEY gHIA i YT At 3THERHeH o SN Tt 2|
NG B) fmfm
C) fufem D) @fades oA

. Identify the following figure :

A) Sac B) Leaf
C) Embryo D) Seed Coat
i fag o ot 7t g
A) wmW B) uxt
C) qm D) &
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8.

10.

Name the complex tissue which function as a unit to conduct water and minerals
upward from root to leaves. [1]

A)  Phloem

B)  Parenchyma
C) Xylum

D)  Sclerenchyma

36 AT ek ol AT TATZY A TS | TR FU Tk Tt T WAl hl TgaH 1 ok FHTG o &
o T Tt 2l

A) wAEH

B) w5

C) vmgem

D) <eeasw

Give an example for each of the following : [2]

a)  Aerobic bacteria which fixes nitrogen
b)  Anaerobic bacteria which fixes nitrogen
c)  Cyanobacteria which fixes nitrogen

d)  Photosynthetic non-sulphur bacteria which fixes nitrogen

A3 o FeorisoT | wgres fmfoiRaa osiia Fensiial sl Ush—Ush 3gTgHut ifeU

a) TS Srem]
b) e Sa]
c) WEANIaY]

d) UwHPESE TR Tew SET]

Define the term inflorescence. What are the major types of inflorescence in flowering
plants. [2]

“geushA’”’ Yiider <Rt uftwren feilRau | geddt diet ® geasew h 3 g TR ureht ST 2
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11. What is the importance of balanced diet? Reason out the special diet recommendation

to pregnant and lactating women? [2]
FfoTd HTER ol Hged TATST | THTereen 3R gersme afgenati o forg fafdte smew g o stavass
27

12. How is the phenotypic ratio of F -generation in dihybrid cross is different from
monohybrid cross? [2]

fooet sntel # Fwafd st (eiunsredt S1gard Teheeh shidl | i Tt gran 82

13. Observe the diagrams and answer the following : 12]

a)  Are these type of stomata found in monocots or dicots?

b)  Mention their main function.

it fau o st i gRae iR FfoRaa et o S @i

a) IO WehR < {81 UehalloTo=N Gtel T 10 AT ¢ | 31eran fgefierosh dieii o 2
b) 3R UY@ AT |
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14. Answer the following : [2]

a)  Which phase of growth curve shows rapid and maximum growth?
b)  Whatis the termused for inducing early flowering in plants at low temperature?

c)  Name the specially designed equipment used to measure the rate of growth of

shoot length of plants.

d)  What is the hypothetical plant hormone which is responsible for initiation of
flowering in plants?

ffafefea & s dtsu :

a)  ghg N HITE TEEAT <k FRA Ao R srferran gfg At 22

b) el # e ausEn W et goe i S A o fore wim—wn i T TR s 20
c) UL H TIE ht g | Fheg hl WA ok foTe fami wu ® daR R T Suehut @R A Saise |
d) el H goua STRYH A & fore ufterfeua urew gmia wim-n 89

15. Draw a neat diagram of human lung and label the Larynx and trachea parts : ~ [2]

AT o THORS! ohi Ueh Te0 3T SHTST a4 S fmfotia s tifera i | e Ta varaett |

16. Write the functions of the following : [2]

a)  Oxytocin

b)  Prostate gland
Frafeiaa & «rt feRau -
a)  SAiaHreieR

b) WReuX
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17. Write any four advantages of Bio-diesel. [2]

AT — AT o HIg IR AT Tq1S |

18. Where does spinal cord is located in human beings. Mention its main function. [2]

AT | Bt hgl Fedd gt ¢ | Heds] i @ i same |

19. Give reasons : [2]
a)  Habitat is called an address of the organism.
b)  Fins are an adaptations of fish to aquatic life.
THRUT TS :
a) e % NTETE % UITETE Fl hed @ ?

b) elta Sfiaq & foru U woelt & 3gEe g € |

20. A person is suffering from softening of bones and pain in bones which tend to
fracture easily. [2]

a)  Whatis this condition?

b)  How to prevent it?

T Atk <t gfgal oredich ug it ¥ fresh wrot 3@ g8 2 @ aun gt ged R waft urht e 21
a) wEfRfiw FmsRo?

b) zu feafa a fora YR s=ma foRan i weRan 21
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21. Differentiate between "Sapwood" and "Heart wood". (4]

TERTS 3R SATHTS H R FA1 |

22. A man with 'A' blood group married a woman with blood group 'B'. Work out a
cross to show possible blood groups that can be expected in their off springs. [4]

FHI A 3R B w6 o oot foreht gew 31 &t 9 Scaw Tafd & et T S ohl g9iia STl Uk
i ST |

23. Write short notes on :- [2+2=4]
a)  Mode of nutrition in Yeast.

b)  Sexual recombination in Bacteria.
FrafeRaa w wferm feouft fofau .

a) e <ht mwur - fafe

b) STy # SR g

24.Draw a schematic diagram of "Carbon Cycle". [4]

TS — 5k i Ueh AISTTag TG SATSU |

25. Explain the process of translocation. [4]

AT (STTATE) — UTshaT hi SIREAT i |
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26. Give reasons : [2+2=4]
a)  Sino-atrial node is called pacemaker of the heart.
b)  Person with blood group 'O’ called Universal donor.
FHT FATST :
a) o aferg (Sino-atrial) Tt o ga= w1 FeweRt Fl Shgd 27
b) 'O wiER T AT Th i ATEATIE TGTAT It Had @ ?
27.a)  Name the scientist who discovered C, cycle. 1]
b)  Draw aneat schematic diagram of C, cycle in plants. 3]
¢) Justify your answer why C, plants are most efficient than C, plants? ~ [2]
a)  C, < i TN & ATt Ak ol A T3y |
b) e d C, =k ol Ueh Tae0 AleHIag NG 13 |
c) C,utdi & aen C,Na i HAferer wOR d 2 310 I At gfe FHifww |
28.a)  Write the various steps involved in obtaining wine from grapes by fermentation
of yeast along with the diagram. [4]
b)  Write any two types of alcohols produced by same method. 2]
a) e % Revad g S @ wikw ww W § Rifta fifte sl et B | o
I i TR |
b) e faftr gam Fftta vR el oft @t R % e ford |
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29.a)  Whatis "Criss - Cross inheritance"? [1]
b)  Whyisred - green colour blindness more common in males than females?[2]
c)  Howis colour blindness inherited? Explain with the help of flow chart.  [3]
a)  fora shta gvmmfa s @t 82
b)  ce-gh utiean R i gormn # geut | atferer w ureh e 3
c)  autieran i gyt fFa TwR 2t 2 ? Uk TaTg A1é <hl Tl @ et hifu |
30.a)  Write any four salient features of Class-Aves with two examples. [4]
b)  Define "Alteration of generation", with one example. [2]
a) 3 3G I g Ve & o hig AR AT Fern Fatsy |
b) U IR A g “WR - Tehierur”’ <k ufewren ferRae |
PP P
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